Questions, Section 4.4

SECTION 4.4
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Use implicit differentiation to find % ifzrlny =1.

dy

Use implicit differentiation to find o if zy = In(z tany).
Find f'(z) if f(z) = In (2zv2 + ). 4.4.4 Find f'(2) if f(z) = In(tanz + secz).

Find f'(z) if f(z) = zInsin 2z + z°.

)
Use logarithmic differentiation to find ftﬂ ify= _:_1:_:1;_—{-1
dx (z +1)23

of (z + 5) cos* 2z

dy
ithmic di tiati find = ify = :
Use logarithmic differentiation to find dz 1Y (@ — 8)°

Find f'(z) if f(z) =1In (31-\/3 _ :1:2).

Use logarithmic differentiation to find dy ify=y _tgn:c_s-
dz 1+ z%)

Find f'(x) if f(z) = e*5°%. 4.4.11 Find f'(z) if f(z) = e **sin3z.
Find 2 if y = (sinz)". 4.4.13 Find f'(z) if f(z) = en
dx 2
Find f'(z) if f(x) = z*4". 4.4.15 Find % if y = (tant)’.
Find f'(z) if f(z) = ® + z°. 4.4.17 Find f'(z) if f(z) = (secz)*®".

Use implicit differentiation to find dy/dz if tany = ¢ + Inz.

Use implicit differentiation to find dy/dz if €?* = sin(z + 3y).
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